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The reason why Nikola Tesla's A/C works so well is because it aligns with the essential working mechanism of the universe.
The universe is a generator that works as any other except it is the mother of all: a single movement twisting in/out of Eternity to produce the universe as secondary issue – illusion!
All issues dissolve with the recurring cycle. All things are algorithms of the one on/off.
The resistance that initiated the cycle is the antithesis of stillness/equanimity. 
Equanimity has no other and is absolute in terms of it – unlimited!  
This should not surprise for it is the knowledge of the ages. 
The first movement was a point of view: an illusion realized by reference and subject to proof - a hook!
The antithesis is everywhere at once as the sum of who we think we are.
“ The whole is more than the sum of its parts.” – Aristotle. 
The Whole sheds to live. 
Behold the ANTICHRIST. 
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